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She died, yes; she did not die, no - XD 7N XY PR NN

Overview

Previously 731 "1 brought a Xn»92 (based on the P05 of 1n1°2%7), which indicated that
D Pap is 717 173p0.1 Subsequently 5" asked a question on > from the Xn>>2 of
WK 71 which indicates that NM17°0 1737 is 7337 1°222 1R2. Our M0 explains the nature
of this latter question.

nvoIN asks:
- 31999 TYD) 1197 2715257 NN IANT 1IN 5397 NIV INI VAN ON)

And if you will say; what is the question of ", since >''1 can follow the Xin of

the Xn>>72 of 2%, for in any event the two mn>>12 of Tn°2% and in» argue with each
other?!

nBoIN answers:
= 199 NN NNPIND RIINT 491210 W

And one can say that we can establish the Xn>12 of n°2% (which seemingly

indicates “»7 77 773P2) in a case of 7n» like this xn™2 of 70, so the Mn»92 do not
necessarily conflict, which makes "1 question understandable.

mooIn has an additional question:
- Hyah 75093 MY AYNRN ANT XIYA ANNT THT 23U 9NN ON)

And if you will say; so let "1 answer that this Xn>>72 of 71n% is in a case where the

woman did not transfer the n19°9 of her assets to her husband in which case he does
not even have m7° 7°1p, therefore he cannot bring them as a°M13°2 —

N190IN answers:
- 5925 71799 1329 PPNT AN YN SINP KNIAT UMY Y

And one can say; that the Xn>92 of 7nn was taught even after the 3129 enacted

that the M7 of the wife belong to the husband so he has a m~» 11p and nevertheless he
can only be X1121 X2 if she died, but not when she is alive —

! See previous Jn*271 7"7 Moo (in the ‘Overview’).
2 5"q inferred from that Xn»12 that M7 PIp is 9137 7IP2.
3 See ‘Overview’; the two Nin»72 seemingly conflict with each other.
4 Mo question was that since the two mn>2 obviously conflict, how can we ask a question on > from one Xn*3,
since he maintains like the other Xn>2. The answer is that they do not necessarily conflict, therefore " has a valid
question if we presume that the first Xn>>72 also maintains °»7 737 132 1> for it is in a case of nn.
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moon offers another answer to his question why we cannot establish the X172 where she was not
7917 to him her m7s:
= SNYIP IINT NTY NIP T 9NN PIYA M NP N%Y MNT N

And additionally if she was not 721 her m7°2 to him, he merely took them and then
she died, it is like one who buys fruit in the market and then he bought the field

where these fruits grew, where the rule is that he cannot be X7 -
= (v 6099992 NODNA 1999NT

As the X713 [in 22217 Tn%n] states in 259192 nodon —

nooIn responds to an anticipated difficulty:’
= 929Y NN NYINH M9 1D PHVY YWIPH Wb YaN

However according to %' that he had the m=s initially it is properly understood -
$9%97 502 AN NIPIVNT )10 XN X¥an NNt

That when she died he is X711 X%2% since initially he was attached to the field
through the ny7vs.

Summary
The two mMin>72 do not necessarily conflict. The Xn»92 of 7inn is after the 1127 gave

him her m17°s. If the woman was not 7121 her n17°9, the husband cannot be X717 even
after she dies. Even according to 9", if she was 11911 the M7’ then he may be &°an
X after she dies. It is not like 77w 2"nRY M0 7. Since he had a vested interest.

Thinking it over
In the first question MoOIN writes, '®WP X' (but not "1w°7"); however in the second
question Moo writes 17 (but not '®wp *&MY'); why the different expressions?!

3 Therefore if the wife was not 719t the M0 to her husband, he cannot be Xp even after she died, because it is just
like the case of "1 P1wa m7vo mIp.
6 The 3M2w11 2"7n Mt amends this to read "nHwa.
7 moo1n just finished saying that if she was not 719t the nM178 to the 9v3, even if she died he is not Xp. Why therefore
according to 7" is he X721 ®°2n even after she died and even if she gave him the m7%0. According to M7 11p 5" is
not “n7 T I3, so the fact the he owns the M5 does not permit him to be 811 &*21 his wife’s 2°112°2, so even
though she died and he inherits the field it is still the same problem at it is according to >, namely it is like he bought
the mM17°o and later bought the field!
8 According to " if she granted him the M7 it is not similar to the case of 77w AP >R M0 71p, for in that case
when he bought the M7 he had no connection at all to the field, however here when she granted him the m7°d of the
field so even though it is only M= 1°1p, but she granted him the m7°5 of her field, so he has some connection to the
field (a Mo 7°1p), therefore when she dies and he inherits the field it (sort of) completes his 7137 11p in the field.
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